Z e A
&t J11F % 5

Multipurpose Chamfering Toolholders Series

= FA#i#1 = 50HRC i
fmeE / HeE i

For general steel (=50HRC), stainless steel,
cast iron and aluminum/copper alloy machining.




EmiEER

Product Selection Table

$EiREImEE T K Carbide Chamfering Inserts

SDMX @ SCGX SCGX SCMX
JIREEER - e
Single-Sided B ﬁ n Ql
Inserts — I

0.4r m 0.4r (£8F) 0.4r 0.4r
TCGX TCGX TCMX DCEX
m 0.8r (£8F) 0.8r 0.8r m 0.1~0.4r

DCEX

ZIHEEEIA NI Multipurpose Chamfering

$5.5 ®13

(@)

>

el EcsD Q| |[Ecsc
@ ’

E HEEER o ®
= Single-Sided ,
3 Inserts

>

=

Q.

@

3

i O S =




EmiEIER

Product Selection Table

f#EiAMI Chamfering

JIREEER
Single-Sided
Inserts

$E8M 1= JJ48 Carbide Vibration Holder

LCL LCN

$8~32 ®11.7~31.5

ATEREIEMT
BE Ae

How to calculate

Chamfering
width(Ae)

(@)
=
Q
3
=
(0]
=
=
©
-
o
<3
>
(=3
Q.
(0]
-
(2]

i O & T =5




iD= E YAy

CARBIDE CHAMFERING INSERTS

AL oviotces ~ © ©© © : 5—3E First Recommend
7Jl] “ A #%8 Stainless Steels - O ©| o O : EE#kRE Second Recommend
T BSN #58 Cast Iron - o} 0| — ¢ FIBEH NO Recommend
g NI 3284 Aluminum Alloys | © - - - F : #&10T Finishing
=mas o _ S : 4EMNT Semi Finishing
- SiR&E High Temp Alloys (@) ©|o M : ST Medium
2 EES S Hardened Steels | — © ©|O R : #840T Roughing

R IE AR R 71/ 2D

Order No. < Drawing

BRAREISENNT - B2HMI - B V&I - BRAMI (7JFEEER] -
Chamfering & Countersinking, Spotting, V-Grooving, Engraving [ Single-Sided Inserts] .
’ SDMX05T104-FG [ ] [ ] - = =] =] -
B@ 346
Fls|m[r
SCGX09T304-AG | @ 9.539.53(3.97| 04 | 44
SCGX09T304-FG [ ] 9.5319.53(3.97| 04 | 44 P
[ |
- B di
@ Ej 347
Al s
SCMX09T304-SM o 9.563|9.53|3.97| 04 | 44
(@)
>
E
o TCGX16T308-AG [ ] 16.5| — |397| 08 | —
=
«Q
-
o
€
=2
% TCGX16T308-FG ([ 165 — |3.97| 08 | —
@
7 /A\ Al B 348
il
TCMX16T308-SM [ 16.5| — |3.97| 0.8 | —
1%]
%E DCEX11T301-FX [ ] — | — |397] 01 | —
1?3 DCEX11T302-FX ([ ] - | — |397] 02| —
a DCEX11T304-FX o - | — |397| 04 | — Y
349
DCEX11T301 [ ] = | — |397] 01| — L’l
DCEX11T302 [ ] - | — |397] 02| — 3
DCEX11T304 [ ] - | — |397] 04| —
DCEX11T308 [ ] - | — |397]| 08| —
= 1]]H|
i




iD= E YAy

CARBIDE CHAMFERING INSERTS

AL oviotces ©e|® © : 5—3E First Recommend
7Jl] “ A58 Stainless Steels ©|0|0 O : S5 #iE Second Recommend
T BSN #58 Cast Iron ©|0|© — ¢ FIEH NO Recommend
g NI 255 Aluminum Alloys - == F : #8610 L Finishing
=mas o S : 4FINT Semi Finishing
- =i &% High Temp Alloys ©|0|o M : ST Medium
2 B8 3 Hardened Steels ©|o|— R : #80T Roughing

I EEAR R = 715 2D B
Order No. = = Drawing
R
w
FERREIAINI [JJREHEER] o Chamfering [ Single-Sided Inserts ] .
T SPMG050204-MG ® ® ® | 500 — [238| 04 230
Fls|m[R
SPMG060204-MG ® ® ® 600 — |238| 04 |2.65
[ R
-~
Fls|m|R
_ T| SPMG07T308-MG ® @® @® | 794 — |397| 0.8 |2.85
B8
| q 350
Fls|m[R
’ _ T| SPMG090408-MG ® ® ® 9380 — 430 0.8 [4.05 r— N
L) g
I di
== . 11° o
A S
F s [m] R - 5
SPMG090408-RG ® ® ® 9380 — |4.30| 0.8 4.05 o
=
@
—|
o
=
=
SPMG110408-MG ® O® @ 115 — |480| 0.8 |4.45 %
)
7
SPMG110408-RG ® O @ 115 — [480| 0.8 |4.45
fl
- 10 b2
cmuﬂfc!:ﬁﬁ%ﬁ 7]
=
1%




ECSD £ IhgefflAEist 117

MULTIPURPOSE- CHAMFERING TOOLHOLDERS- ECSD

15z] 193

> o - Wrench
IR HRER BER &
Order No. o Insert 4/’
ECSDO05-01005-040L 55 20 7 40 6 1
SDMXO05T1.. TS1801 ETF06
ECSDO05-01005-060L 5.5 40 7 60 6 1
(@)
>
[
3
=4
@
=
«Q
-
o
€
>
=)
Q
@
7
EEEIMT BRI EEMT VT BRMT =) {20 = T
BREDA pa TR

Chamfering Countersinking
= B

i O S =

X BUgEIgEE -C A 7KFLERET o Product number end in -C are coolant-through design.

fix s Al SRS N fiad Ra® =as
Carbon Alloy Hardened Stainless Cast Aluminum High-Temp
PR E Steels Steels Steels Steels Iron Alloys Alloys
Work
Material HRC<20 HRC20~30 HRC30~45 | HRC45~55 | HRC55~63 = HRC<30 = HRC<30
© © © — — © © — O

O : E—HE First Recommend O : & Second Recommend — @ A #E NO Recommend




ECSC ZInaefIAmE 1%

MULTIPURPOSE- CHAMFERING TOOLHOLDERS- ECSC

ECSC

] 181

~ - - Wrench
RIIBHRR BEe7A
Order No. Insert
ECSC09-01013-100L 13 29 100 10 1
ECSC09-01013-100L-12 13 29 100 12 1
SCGX09T3.. TS3520 ETF15
ECSC09-01013-100L-16 | 13 29 | 100 | 16 1 | SCMX09T3..
ECSC09-01013-150L-16 13 29 150 16 1
A(GMT BA(R)MT EHMT ViEmT BT =EIMT ) JE =) 1) 845
Ehamfering Spgtting X-Grooving Engraving Turning ﬁsiearzj):ll- CUtti?‘ngﬁ(J:Lﬁgi:if

73
5

sl 181

SRR R~F Dimensions (mm) BETIE Wrench Screw Wrenc

Order No. Insert \\\\\\& _ /’
SCGX09T3..

HCSC09-01013 13 30 6.5 M6 1 SCMX09T3.. TCO08 TS3520 ETF15

Chamfering Countersinking
= =

) RFD TR
RELTIR b 351, 357

X BUgEIgiE -C A 7KFLERET o Product number end in -C are coolant-through design.

fix s ] SRS N fia fRaE =RE
Carbon Alloy Hardened Stainless Cast Aluminum High-Temp
PRt E Steels Steels Steels Steels Iron Alloys Alloys
Work
Material HRC<20 HRC20~30 HRC30~45 | HRC45~55 | HRC55~63 HRC<30 HRC<30
© © © @] — © © © @]

© : E£—¥E First Recommend O

% _#E Second Recommend

— ! F#EE NO Recommend

(@)
>
()
3
=
(0]
=
>
©
—
o
2
>
2
Q.
(0]
=
(%]

i o 5% Hy B




ECTCX SIngefRIARIER IR

MULTIPURPOSE- CHAMFERING TOOLHOLDERS- ECTCX

90°( > d —+94H4----+--+—---|p

10.68mm

] 181

STRS IS R~ Dimensions (mm) 7]): BRI Wrench
Order No. e Insert
Teeth
ECTCX16-01020-120L 20 - 120 | 20 1
TCGX16TS.. TS3521 ETF15

ECTCX16-01020-150L 20 - 150 | 20 1 | TCMX16T3..
®)
>
Q
=
=4
@
=
«
_|
o
=3
>
=3
o
D
7

BB )M BE(R)INT EHMIT VigmI MzmIT EHIMT -}EZJH- Zt:’:ﬂ;ﬁ(u:ﬂfgﬁf

Turning

Chamfering Countersinking Spotting

Engraving
||

i O S =
D]

X BUgEIgiE -C A 7KFLERET o Product number end in -C are coolant-through design.

fix s ] SRS N fia fRaE =RE
Carbon Alloy Hardened Stainless Cast Aluminum High-Temp
PRt E Steels Steels Steels Steels Iron Alloys Alloys
Work
Material HRC<20 HRC20~30 HRC30~45 | HRC45~55 | HRC55~63 HRC<30 HRC<30
© © © @] — @] © © O

© : E£—¥E First Recommend O

% _#E Second Recommend

— ! F#EE NO Recommend




ECDC ZIngeIAE IR

MULTIPURPOSE- CHAMFERING TOOLHOLDERS- ECDC

ECDC

] 181

= o o Wrench

RIIBHRR BEe7A

Order No. Insert
ECDC11-01012-060L

DCEX11T3.. TS3520 ETF15
ECDC11-01012-100L 12 - 100 12 1
3 [ = 15 = 1) HI{5

ER(SMT EIf(R)MT ERMT VT BzmT %ﬁr?’\’ﬂgl ﬁsigzj)# Ccut tiﬂgﬁéhﬁf

Engraving

9SS

X BUgEIgiE -C A 7KFLERET o Product number end in -C are coolant-through design.

fix s ] SRS N fia fRaE =RE
Carbon Alloy Hardened Stainless Cast Aluminum High-Temp
PRt E Steels Steels Steels Steels Iron Alloys Alloys
Work
Material HRC<20 HRC20~30 HRC30~45 | HRC45~55 | HRC55~63 HRC<30 HRC<30
© © © @] — o © — O

O : E—HE First Recommend O : S8 #E Second Recommend — @ A #E NO Recommend

(@)
=
o
=
=4
@®
o
>
Q
-
o
2
>
S
o
@
-
(2]

i o 5% Hy B




(@)
>
Q
3
=
(9]
=h
>
(o]
—
(o}
2
>
e
Q.
@
=
(7]

i O S =

ECSP @&t T]1%

CHAMFERING TOOLHOLDERS- ECSP

STt R Dimensions (mm) KT

Order No.

182
Wrench

e

ECSP05-02015-120L 15 (826 20 | 10 | 120 | 12 | 2
ECSP05-03017-150L 17 [10.26| 25 | 11 | 150 | 16 | 3

ECSP05-03019-150L 19 [12.26| 30 | 13 | 150 | 16 3 SPMG0502.. 752003 ETFOS
ECSP05-04024-150L | 24 |17.26) 35 | 18 | 150 | 20 | 4

ECSP06-03022-120L | 22 [13.85| 30 | 16 | 120 | 16 | 3 | SPMG0602.. TS2205 ETF06
ECSP07-03027-120L | 27 |16.44| 30 | 17 | 120 | 20 | 3 | SPMGO7T3.. TS2511 ETF08
ECSP09-02030-150L | 30 |16.80| 40 | 19 | 150 | 20 | 2

ECSP09-03040-150L | 40 |26.80| 40 | 29 | 150 | 25 | 3 | SPMG0904.. TS3504 ETF15
ECSP09-04050-150L | 50 |36.80| 40 | 39 | 150 | 25 | 4

aschnz W @smmT - ﬁz:”# -C:t:’i'ggﬁgﬂfﬁf

Chamfering Countersinking
] ]

X BUgEIgiE -C A 7KFLERET o Product number end in -C are coolant-through design.

fix s ] SRS N fia fRaE =RE
Carbon Alloy Hardened Stainless Cast Aluminum High-Temp
PRt E Steels Steels Steels Steels Iron Alloys Alloys
Work
Material HRC<20 HRC20~30 HRC30~45 | HRC45~55 | HRC55~63 HRC<30 HRC<30
© © © @] — © © — O

© : E—E First Recommend O : SE_#E Second Recommend

— ! F#EE NO Recommend




sham = 7117

CARBIDE ANTI-VIBRATION HOLDER

LCL

e ————————— 1o

STRBAEEE R~F Dimensions (mm)
Order No. #8457 Thread

LCL008-060L M4 X 0.7 8 4.5 60

LCLO008-100L M4 X 0.7 8 4.5 100

LCL008-120L M4 X 0.7 8 4.5 120

LCLO10-075L M5 X 0.8 10 5.5 75

LCLO10-100L M5 X 0.8 10 5.5 100

LCLO10-150L M5 X 0.8 10 5.5 150

LCL012-075L M6 X 1.0 12 6.5 75

LCLO12-100L M6 X 1.0 12 6.5 100

LCLO12-150L M6 X 1.0 12 6.5 150

LCLO012-200L M6 X 1.0 12 6.5 200

LCLO16-100L M8 X 1.25 16 8.5 100

LCLO16-150L M8 X 1.25 16 8.5 150

LCLO16-200L M8 X 1.25 16 8.5 200

LCL016-250L M8 X 1.25 16 8.5 250

LCL020-100L M10 X 1.5 20 10.5 100 o

LCL020-150L M10 X 1.5 20 10.5 150 3

LCL020-200L M10 X 1.5 20 10.5 200 %ﬁ

LCL020-250L M10 X 1.5 20 10.5 250 g

LCL020-300L M10 X 1.5 20 10.5 300 L:

LCL025-100L M12 X 1.75 25 12.5 100 g

LCL025-150L M12 X 1.75 25 12.5 150 %

LCL025-200L M12 X 1.75 25 12.5 200 3

LCL025-250L M12 X 1.75 25 12.5 250

LCL025-300L M12 X 1.75 25 12.5 300

LCL032-100L M16 X 2.0 32 17.0 100

LCL032-150L M16 X 2.0 32 17.0 150

LCL032-200L M16 X 2.0 32 17.0 200 ﬁlj

LCL032-250L M16 X 2.0 32 17.0 250 A

LCL032-300L M16 X 2.0 32 17.0 300 ﬁ
7]
17




sRHm =TT - TRE

CARBIDE ANTI-VIBRATION HOLDER- NECK

LCN

STRBAEEE R~F Dimensions (mm)

Order No. 247 Thread TE d
LCNO011-075L-030E M6 X 1.0 11.7 6.5 30 75 12
LCNO011-100L-040E M6 X 1.0 11.7 6.5 40 100 12
LCNO011-150L-050E M6 X 1.0 11.7 6.5 50 150 12
LCNO015-100L-040E M8 X 1.25 15.7 8.5 40 100 16
LCNO015-150L-050E M8 X 1.25 15.7 8.5 50 150 16
LCNO019-100L-040E M10 X 1.5 19.5 10.5 40 100 20
LCNO019-150L-050E M10 X 1.5 19.5 10.5 50 150 20
LCN019-200L-060E M10 X 1.5 19.5 10.5 60 200 20
LCN024-100L-040E M12 X 1.75 24.5 12.5 40 100 25
LCN024-150L-050E M12 X 1.75 24.5 12.5 50 150 25
LCN024-200L-060E M12 X 1.75 24.5 12.5 60 200 25
LCN024-250L-080E M12 X 1.75 24.5 12.5 80 250 25
LCNO031-100L-040E M16 X 2.0 31.5 17.0 40 100 32
LCNO031-150L-050E M16 X 2.0 31.5 17.0 50 150 32
LCNO031-200L-060E M16 X 2.0 31.5 17.0 60 200 32
LCNO031-250L-080E M16 X 2.0 31.5 17.0 80 250 32

(@)
>
Q
3
=
(9]
=h
>
(o]
—
(o}
2
>
e
Q.
@
=
(7]

i O S =




AAEEIAMIEE Ae

How to calculate Chamfering width(Ae)

90°

%

Ae —>

Ap

60°

Ap

r v

Ae—~>

FHRAE 90

Chamfering Angle 90°
Formula :

AL : Ae = 2X(Ap +0.4r)

i3l 1.

ElEAE =90°
INIRE Ap = 1mm
71R r 8 =0.4mm
KRINTEE Ae?

Ae = 2X(Ap+0.4r)
=2X(1+(0.4X0.4))
= 2X1.16
= 2.32mm

g3l 2.

FAB/E =90°
INTFE Ap = 3mm
71R r 8 =0.4mm

KINTEE Ae?

Ae = 2X(Ap+0.4r)
= 2X(3+(0.4X0.4))
= 2X3.16

= 6.32mm

ElEAE 60°
Chamfering Angle 60°
Formula :

AT : Ae = 0.58X(Ap+r)X2

&3l 3.

FlEAE =60"
INTRE Ap = 1mm
J1RrAB=0.1mm
RINTEE Ae?

Ae = 0.58X(Ap+r)X2
=0.58X(1+0.1)X2
= 0.58X1.1X2
= 1.27mm

#if3l 4.

FA/BE =60"
INTFE Ap = 3mm
71R r 8 =0.4mm

KINTEE Ae?

Ae = 0.58X(Ap+r)X2
=0.58X(3+04)X2
= 0.58X3.4X%X2
= 3.94mm

(@)
=
o
=
=4
@®
o
>
Q
-
o
2
>
S
o
@
-
(2]

i o 5% Hy B




Chamfering Toolholders BEBRYE




